Use elimination (as shown in lecture) to solve the system SCORE: /55 PTS
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Find the general solution of """ — y" 4+ y'— y=x+4cosx. SCORE: /40 PTS

et e ®
U= = (~1D2 O

-0 @
= A L@
.
\9“= A‘C,D'SX - [?:S'mx + C,-E:(@
il t

o= Do P G €D
3;; D cosx — Dy sis + &
FYESCes X b S @

= (Fx+DYeosx + (DxrFsmz + 6 (D
jr” T F esx - Ex-DDswmix

D) eaosxs D s |

= (-Px 2P os% + CFx2D)3mx @
%' = L D Che Dy DY s X

“"( Fx*lD)COSY 'PJr Shn X
-~ (s 2w (D ,3\c55m>< @

3‘;; /j“‘o +j$, ”JP = (-T%-3D +Dx2F +Fx+D =Dy o5 x
(D AE rE DN D s
+ 6 -Gx—-H
(—2D~2F Dot x + (-2F »2D)snx D
L hn o) n
L d e PYY
i by c-v=0D H=1®

-4F- 4 —F=s) .
:——) .
2

&: ~XeoSX =W Shax — ><-'| Jf}avc,osx +@<§\>~ka;€/

\l

----------- ——
S =2




y =e** isasolution of the homogeneous differential equation (2x +1)y" +4xy' -4y =0.
Find the general solution of the non-homogeneous differential equation (2x +1)y" +4xy' —4y =2¢7*(2x +1)°.
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y= 4\/; is a particular solution of the non-homogeneous differential equation 9x? y'=3xy' +4y= \/; ; SCORE: ___ /15PTS
Solve the initial value problem 9x)" —3xy' + 4y = 24/x, y(h=-7, yl)=35.

(D, rr- 12red=0,
(Br-2y=d

= 2 2

(A + T, Sl
3@2 fv?)@jﬂ\x Bxl@

’E*’&‘l@_’i%—bﬁ
Yuy= g A = 1 — A=50
e e L 2y
}j = "’%A’( '_!54, 3’&% [n 8:@

U= Zj;;cﬂ%)*@: 2

Ye T = |5’><%+ll><%)n§

e




	System
	UndetCoef
	RoR_VoP
	Cauchy

